  Kinematic Constraint Equations for a 4 segment system that is only hinged at one end. 

        ax1 = 
- 1*r1*sin(1) - 12*r1*cos(1)
        ay1 =    
  1*r1*cos(1) - 12*r1*sin(1)
        ax2 = 
- 1*L1*sin(1) - 12*L1*cos(1)...

                 
- 2*r3*sin(2) - 22*r3*cos(2)
        ay2 =  
  1*L1*cos(1) - 12*L1*sin(1)...

                 
+2*r3*cos(2) - 22*r3*sin(2)
        ax3 = 
- 1*L1*sin(1) - 12*L1*cos(1)...

                 
- 2*L2*sin(2) - 22*L2*cos(2)...

                 
- 3*r5*sin(3) - 32*r5*cos(3)

        ay3 =  
   1*L1*cos(1) - 12*L1*sin(1)...

                 
+2*L2*cos(2) - 22*L2*sin(2)...

                 
+3*r5*cos(3) - 32*r5*sin(3)
        ax4 = 
- 1*L1*sin(1) - 12*L1*cos(1)...

                 
- 2*L2*sin(2) - 22*L2*cos(2)...

                 
- 3*L3*sin(3) - 32*L3*cos(3)...

                 
- 4*r7*sin(4) - 42*r7*cos(4)

        ay4 =  
   1*L1*cos(1) - 12*L1*sin(1)...

                 
+2*L2*cos(2) - 22*L2*sin(2)...

                 
+3*L3*cos(3) - 32*L3*sin(3)...

                 
+4*r7*cos(4) - 42*r7*sin(4);

